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MEC-001 : MICROECONOMIC ANALYSIS

Time : 3 Hours

Maximum Marks : 100

Note :

Attempt questions from each section as per

nstructions given.

SECTION-A

Answer any fwo questions from this section :

1. Discuss Walrasian equilibrium under what conditions

is the Walrasian equilibrium pare to optimal ?

2. (a)

(b)

Discuss the problems arising out of the presence

of hidden action and hidden information.

Discuss the concepts of screening and signalling

under assymetric information.

P.T.O.
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3. Discuss Pigon’s views on the theory of social welfare.

Make a case to refute his arguments.

4. Consider an industry with two firms. Each firm has

constant marginal cost C'(g) = 0. Let the market
inverse demand function be P(Q) = 100 — Q, where

qul""%-

(@)
(b)

What is the Bertrand equilibrium level of output ?
If firm 1 acts as a leader and firm 2 as a follower,

what is each firm’s output in the stackelberg

equilibrium ?

SECTION-B

Note : Answer any five questions from this Section.

5. Consider the following version of prisner’s dilemma

gave :
Player 2
Coperate Cheat

Player 1 Coperate 15, 15 0, 50

Cheat 50,0 10, 10
(a) What is each player’s dominent strategy ?
(b) Explain the nash equilibrium of the game.
(c) Compare the Nash equilibrium with Pareto

efficient out come of the game.
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Use the utility function x, 1 zle/ 3 and the budget
constraint M = P, X, + P, X, to calculate Marshallian
demand functions, indirect utility function and Hicksian

demand function.

Discuss Williamson’s framework of institutional
analysis in the theory of the firm. Do you agree with

Williamson’s analysis ? Give reasons.
Write short notes on (any three) :

(a) C.E.S. production function

(b) Hotelling’s lemma

(c) Merit goods

(d) Consumer’s surplus

Distinguish between (any two) :

(a) Separating and pooling equilibrium.

(b) Slutsky and Hicksian approaches to effect of price
change.

(c) Homogeneous and homothetic production
functions.

Why is there a social cost to monopoly power ?
Suppose a production process gives rise to negative

externalities, would your answer on social monopoly

change ? Explain.
P.T.O.
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12.
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The production function of a firm is given as :
Q — KO.S LO.6
Payment to labour (w) = 1 and that of capital services
(r) = 1. Assuming that the amount of capital is fixed at

k = 10, derive the firm’s short-run average cost curve,

and explain its shape.

The utility from wealth for a person is given by
U = In(w) where U is the utility and w is the level of
wealth. The person has a project of good income of
4000 with profability 0.4 and Low income of 1000
with protability of 0.6. How much would she pay to

insure against income uncertainty ?
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